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Add Fractions

5a. Complete the calculation shawn in
the model balow.
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da. Complete the bar model.
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da. True or false? Explain your answer.

4 127 24- 124
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7a. Solve the following calculations.

3 2 7
AT*r*3*Ec
8 5 3
B.* 8 *a "
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5a. Select 3 fractions which add vp to no
more than 1 % .

2 2 13 5
) 3 24 || 12

Find more than one answer.
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Ba. Which caleulation I iIncomect?
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&a. Find 3 possible solutions to the riddle.

| have 3 proper fractions, their sum is
JT greater than 1 %.

Each denominator is a different,
single digit and a multiple of 2.

What could my fractions be?
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Add Fractions
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Add Fractions

2a. Fill in the missing numerators and
complete the calculation shown In the
model below.

10a. Complete the bar model.

7a. True or false? Explain your answer.
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11a. Solve the following calculations.

2 4 5

A Fra*ry -
8 2 1

B *3* % "

Ba. Select 3 fractions to make a total
between 15 and 113

5 2 3 7
8 3 6 12

Find more than one answer.

12a. Which calculation is incomect?

3.4 .10
AF+re+e=1

18
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B. o+ 12
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Pa. Find 3 possible solutions to the riddle.

| have 3 proper fractions, their sum is

1 3
28 greater than 1 5 -

Each denominator is a
different factor of 28 .

R\‘_ What could my fractions be? j




Answers

Step 12, 2 stars Varied Fluency

Step 12, 2 stars Reasoning

3
Sa. 3 T 1%
Ta.A=13.8=1%

a7
Bao. B iz incomect. B= 153

db. True: the calculation is correct and
presented as an improper fraction. It
could also be written as a mixed number
and simplified.

3,2, 10_25_,2

éb. Various possible answers, for example:
1,43 1.2 6 2 2.3
378 T I T NI

Step 12, 3 stars Varied Fluency

Step 12, 3 stars Reasoning

1 B
fa. FRETM 4E 112

10a. 14
1a. A=2L,B=|i—:

12a. B is incomect. B = 13,

7b. True; the calculation is correct and
presented in its simplest form.
3 7 1 4 10 5

129t a1 118
8b. 2 possible answers:
10 5 4 5 8 4

L+1+&..L“L+ l+l+l
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